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Weights

weight per volume 
(W/V) 

e.g.
mg/l

weight per weight
(W/W)

e.g.
mg/kg = ppm
(parts per million)







(g/kg = ppb (parts per billion)

if solvent has density of 1  e.g. water then ppm = mg/l and ppb = (g/l

molecular weight = sum of atomic weights






e.g. MWt of NH3 = 14 + 1 + 1 + 1 = 17g/mole

equivalent weight = molecular weight divided by z

EW=MW/z


(z is 1,2,3 etc depending on the reactive species)
units are g/equivalent (or g/eq)

the number of equivalents in a given weight of substance is given by:

 weight of material (in grams) / equivalent weight

Weight as Amount of Substance

Q. how to add  NH3 values in different units 100 mg/l and 5 meq/l ? 

all expressions of weight must be in the same units before they can be added

100 mg NH3/l is the same as  100 x 14/17 = 82.3 mg NH3-N/l
5 milliequivalents of NH3 per litre (5 meq NH3/l) 


= 5 x 1/1000 eq NH3/l


as 1 equivalent of NH3 weighs 17g. (i.e.17gleq)

= 5 x 1/1000 x 17 g NH3 /l

as 17g NH3 contains 14 g N


= 5 x 1/1000 x 17 x 14/17 g NH3-N /l 

as there are1000mg in 1g 


= 5 x 1/1000 x 17 x 14/17 x 1000 mg NH3-N /l

= 70 mg NH3-N /l

Concentration

molar = moles per litre, units are M
normal = equivalents per litre, units are N 

to convert M to N simply use the factor z 

e.g.
M x z = N



remember 
( 1N is one equivalent weight in 1 litre




( a solution's normality N is always ( its molarity M
Titrations

Cs.Vs = Ct.Vt
  (where s indicates sample, and t indicates titrant)
i.e. concentration times volume of titrant = concentration times volume of sample

but concentrations must be in units of Normality N  (i.e. eq/l)

( rearrange and multiply by EW to convert concentration from units of N to g/litre (or mg/l)

Cs  = Ct.Vt .EW / Vs   (Cs in g/l)

Cs  = Ct.Vt .EW.1000 / Vs   (Cs in mg/l)

PAGE  
1
Printed   20/09/03 16:24:15   filename:   weight_conc_titration.doc


page #


